N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

J

i
ooH L
\H H! -

—15 10 5

0%525_

N of reco track vs dz

i ”|\| R0

H WMN L

10

eglanni/BDT-vs-DNN/real-
DQM TT__mKFitRETEST3_

N of associated (recoToSim) looper tracks vs dxy

10

LIl

25 0'9—525— 0-15-10 -5 0

[N of associated (recoToSim) tracks vs dz_]

10°

10*

10°

10?

10

M_TT_mK

15 20 25

10°

10*

10°

HATRTEATAY]

1 ‘ l
‘
H|| ” \

0'—25—20 15 10-5 0 5 10 15 20 25

095 =50-15-10 5 0 5 10 15 20 2

| N of associated (recoToSim) looper tracks vs dz |

5




	Contents
	Page 1


